TECHNICAL
DATA SHEETS

PLASTIC PROTECTIONS

MADE IN

ITALY

AND SAFETY BARRIERS 2mem
high shock # > Q .
absorption P’*\
a ‘.._"." 5
modular AIEVNAYS
design PY/INAINMIE
N
adaptable
height
easy '
installation ]

wmem

PLASTIC PROTECTIONS

" M.PM. s.r.. Saf 360
Via Europa 2 T+39 049 9301773 a e‘ Vay
35010 Fratfte F +39 049 9300427
di S. Giustina in Colle info@mpmpvc.com L www.safeway360.com J

PLASTI C PROTE CTI O NS Padova - Italy mpmprotections.com

D Safeway360 y




Proteccion de personas

Proteccion de activos y bienes

Senalizacion temporal y definitiva

Delimitaciones de zonas de trabajo

Diseno y soluciones a medida

SAFETY ENGINEERING
FOR A SAFE WORK

¢

ESTUDIO Y PROYECTO

¢

PRODUCTO E INSTALACION

¢

POSTVENTAYY MANTENIMIENTO




74

06. DOORS

FULL FRAME

PROTEZIONE PORTA FULL FRAME
FULL FRAME DOOR PROTECTION

GRS 150

WARNING

Full frame up to 4000mm high and
4000mm wide can be used without
being mounted to the wall

Q—> GRA 150

-..___—> SF 12

® —> GRC 150

—— > GR 150

— FIX P 150

a—» NUTMI12
*———> WASHER M12

I— M2

e

HEAVY Loap /
FOR FORKLIFTS

'STANDARD DIMENSIONS
UP TO 4500mm HIGH
AND 4000mm WIDE

500 1170 500

120

120 T

1800

Tﬂ

150

CENTER TO CENTER - 120
CENTER TO CENTER
CENTER TO CENTER +120

160

06. DOORS

FULL FRAME

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

S

WARNING

The distance of installation depends
on speed and weight of vehicle
and also on the dimension of the
full frame

WALL

MIN 200mm*

@16 mm




06. DOORS 06. DOORS

FULL FRAME DP 90 ONE WAY o

LIGHT
ISTRUZIONI DI INSTALLAZIONE PORTA PEDESTRIAN 90 Fo.zm‘(p:ﬁ&{
ASSEMBLY INSTRUCTIONS DOOR PEDESTRIAN 90

— > VERTICAL POST DP 90

/ HINGE VERTICAL POST DP 90

© ———— cAPs0X2s

— > GR REINFORCMENT

» HINGE DP 90
D14 mm 10 11 \
0mm g = GATE STOP 90
12 13 14 ‘ MIN 600 - MAX 1000

70

/
7
o

., -
33 e e

1180

350
r

345

T=60Nm

D 45




06. DOORS 06. DOORS

DP 90 ONE WAY DP 90 ONE WAY

PORTA PEDESTRIAN 90 ISTRUZIONI DI INSTALLAZIONE
DOOR PEDESTRIAN 90 ASSEMBLY INSTRUCTIONS

PLEASE CHECK HERE BELOW
HOW THE SIZE OF THE DOOR IS TO BE MEASURED

PLEASE CHECK HERE BELOW
WHICH DIRECTION OF OPENING YOU NEED

N

/J \

[] [] []
C




DP 90 ONE WAY DP 90 SWING o

LIGHT
ISTRUZIONI DI INSTALLAZIONE PORTA PEDESTRIAN 90 Foamggﬁi’é
ASSEMBLY INSTRUCTIONS DOOR PEDESTRIAN 90
T=60Nm 5 9
& CAP 50X25

w— > 63
— > HINGE
HEE
l - %—» VERTICAL POST

o 6 10 " l
M6 . ———— GR70HO
M6 g

~ B

e
£
S % — » VERTICAL POST
iy o
&b
7 11
15 mm B [ j]
8 T=60Nm ]2 R | - 1 |
i | |
41 I i !

|
<
B

120
Q

n .



06. DOORS

DP 90 SWING

PORTA PEDESTRIAN 90
DOOR PEDESTRIAN 90

PLEASE CHECK HERE BELOW
HOW THE SIZE OF THE DOOR IS TO BE MEASURED

06. DOORS

DP 90 SWING

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

PLEASE CHECK HERE BELOW
WHICH DIRECTION OF OPENING YOU NEED

—
J X

—




06. DOORS

DP 90 SWING

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

6
&~
rd
NOT
INCLUDED
7

20 mm

10

11

06. DOORS
DP 150 ONE WAY
PORTA PEDESTRIAN 150 iR

DOOR PEDESTRIAN 150

— > VERTICAL POST 150
——> GRYOHO
Q — > HINGE VERTICAL POST 150
7| ——— HINGE DP 150
\ : J ——> HINGE SUPPORT

GATE STOP 150 [

WIDTH
MIN 600 - MAX 1000

90

420

1187

330

350

@70

‘160‘

85



06. DOORS 06. DOORS

DP 150 ONE WAY DP 150 ONE WAY

PORTA PEDESTRIAN 150

ISTRUZIONI DI INSTALLAZIONE
DOOR PEDESTRIAN 150

ASSEMBLY INSTRUCTIONS

PLEASE CHECK HERE BELOW
HOW THE SIZE OF THE DOOR IS TO BE MEASURED

m f1 ]
e ——— O
I ————
I | —

PLEASE CHECK HERE BELOW
WHICH DIRECTION OF OPENING YOU NEED

> []

[]
o L]
o []




06. DOORS

DP 150 ONE WAY

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

T=60Nm 5

T=60Nm

12

06. DOORS
DP 150 SWING A
PORTA PEDESTRIAN 90 AR

DOOR PEDESTRIAN 90

— > VERTICAL POST

I
|
|

240

1162
240

90

327

MIN 600 - MAX 1000 MIN 1200 - MAX 2000

ol
R
8|

160

IS4

180

89



06. DOORS 06. DOORS

DP 150 SWING DP 150 SWING

PORTA PEDESTRIAN 150
DOOR PEDESTRIAN 150

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

PLEASE CHECK HERE BELOW
HOW THE SIZE OF THE DOOR IS TO BE MEASURED

IE‘¥IE

= =
e ——
I ———
—

PLEASE CHECK HERE BELOW
WHICH DIRECTION OF OPENING YOU NEED

—
J X




06. DOORS

DP 150 SWING

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

6 10
«~
3
4
NOT
INCLUDED
7
20 mm
8
9 13

06. DOORS

LIFT GATE 90 o

CANCELLO PEDESTRIAN 90 LIGHT a0/

FOR HANDPALLET

GATE FOR PEDESTRIAN 90 =

CAP 60x20 «———

ALUMINUM TUBE 60X20 €*——

SDPL90 €-——

SDPLQ0 FERMO 4—,

RON 12 <—| S
® P ® ~
N L > 1118
THREADED ROD M8x80 «———

THREADED ROD M8X77

B224

GR 70 HO HANDLE

93



94

06. DOORS

LIFT GATE 90

CANCELLO PEDESTRIAN 90
GATE FOR PEDESTRIAN 90

70
(@]
N
v — =
Nl
'g o -]
o
132
0
0
IQ ° °
%)
<
™

4 F % !
MIN 1050 - MAX 1600

: ! 210 |
2
B i S
gV Um

MIN 2100 - MAX 3200

LIFT GATE 90

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS WARNING

The distance of installation depends
on speed and weight of vehicle

=
RS ] D6 3
70 mm
630 mm
A
70 mm
ad 355 mm
| <
4 6




06. DOORS

06. DOORS

LIFT GATE 90

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

LIFT GATE 150

CANCELLO PEDESTRIAN 150
GATE FOR PEDESTRIAN 150

HEAVY Loap /

FOR FORKLIFTS

NOT

CAP 80X20 — Qg

ALUMINUM TUBE 80X20 €—

SDPL 150 <—;

INCLUDED

L]
(0]
9 GRT90 <——] ‘

@ o,

SDPL150 FERMO

NUTI\/|8<—‘
.@'

DOUBLE GATE

6,
12
SDPL 150 <—‘ =
(=]
RON 12 <—¢| .
@ L B224
S GR 90 HO HANG
[
THREADED ROD M8X105
15

ul [
+ 1

10mm

-

97



98

06. DOORS

LIFT GATE 150

CANCELLO PEDESTRIAN 150
GATE FOR PEDESTRIAN 150

N
[ce]
g © EESEEEITEETLEN
o
N
wn
(@]
=
o
o~
o
fro)
™
y E E MIN 1100 - MAX 2000 E ﬂ E a
N
= 261

=

o
~N

MIN 2200 - MAX 4000

06. DOORS

LIFT GATE 150

ISTRUZIONI DI INSTALLAZIONE
ASSEMBLY INSTRUCTIONS

[

P

p ®

AN

L&

Y

(

@12mm

S
S=

«




100

06. DOORS 07. LINK

LIFT GATE 150 LINK SINGLE

ISTRUZIONI DI INSTALLAZIONE GUARD RAIL A SINGOLA BARRIERA REGOLABILE D
ASSEMBLY INSTRUCTIONS ADJUSTABLE SINGLE RAIL BARRIER

€ > crriw

‘ —— > LINK 150/150 DX
8 9

GR 150 HO LINK ——

-—
/ LINKO 150/150 ‘ — > FIXP 150

\ 4

NOT
T=60Nm INCLUDED 5mm
ﬂ 1 !l i — M2
12
L

DOUBLE GATE 15 120
QI

10mm k

E
547
|
|
150
-
-

71

_ CENTERTO CENTER -171 _| | [ CENTERTO CENTER -171 _
CENTER TO CENTER CENTER TO CENTER

120
160

a

"A\E/_“ .g/‘ |

150

120
®
S

101





